

## ON SOME GENERALIZATIONS OF ENESTRÖM–KAKEYA THEOREM

NISAR A. RATHER

*Abstract.* In this paper, we obtain some generalizations of a well-known result of Eneström–Kakeya concerning the bounds for the moduli of the zeros of polynomials with complex coefficients which improve some known results.

### 1. Introduction

If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  with real coefficients satisfying

$$a_n \geq a_{n-1} \geq \cdots \geq a_1 \geq a_0 > 0$$

then according to a well-known result of Eneström–Kakeya (see [21, 22, 23]) all the zeros of  $P(z)$  lie in  $|z| \leq 1$ .

We may apply this result to  $P(tz)$  to obtain following more general result.

**THEOREM A.** *If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  with real coefficients satisfying*

$$t^n a_n \geq t^{n-1} a_{n-1} \geq \cdots \geq t a_1 \geq a_0 > 0,$$

*for some  $t > 0$ . Then all the zeros of  $P(z)$  lie in  $|z| \leq t$ .*

In literature [1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25] there exists several extensions of Eneström–Kakeya theorem. An exhaustive survey on the Eneström–Kakeya theorem and some of its generalizations is given in [15] by Gardner and Govil. For the polynomials with complex coefficients, A. Aziz and Q. G. Mohammad [5] used matrix method and proved among others, the following generalization of Theorem A.

**THEOREM B.** *If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  with complex coefficients such that for  $k = 0, 1, 2, \dots, n$  and for some  $t > 0$ ,*

$$t^n |a_n| \leq t^{n-1} |a_{n-1}| \leq \cdots \leq t^k |a_k| \geq t^{k-1} |a_{k-1}| \geq \cdots \geq t |a_1| \geq |a_0|,$$

*then  $P(z)$  has all its zeros in the circle*

$$|z| \leq t \left\{ \frac{2t^k |a_k|}{t^n |a_n|} - 1 \right\} + 2 \sum_{j=0}^n \frac{|a_j - |a_j||}{|a_n| t^{n-j-1}}. \quad (1)$$

A. Aziz and Q. G. Mohammad [5] also proved the following result.

*Mathematics subject classification (2010):* 26C10, 30C15.

*Keywords and phrases:* Zeros, polynomials, complex domain.

**THEOREM C.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  with complex coefficients. If  $\operatorname{Re} a_j = \alpha_j$  and  $\operatorname{Im} a_j = \beta_j$  for  $j = 0, 1, 2, \dots, n$ . If  $t > 0$  can be found such that

$$t^n \alpha_n \leq t^{n-1} \alpha_{n-1} \leq \dots \leq t^{k+1} \alpha_{k+1} \leq t^k \alpha_k, \quad t^k \alpha_k \geq t^{k-1} \alpha_{k-1} \geq \dots \geq t \alpha_1 \geq \alpha_0$$

and

$$t^n \beta_n \leq t^{n-1} \beta_{n-1} \leq \dots \leq t^{m+1} \beta_{m+1} \leq t^m \beta_m, \quad t^m \beta_m \geq t^{m-1} \beta_{m-1} \geq \dots \geq t \beta_1 \geq \beta_0,$$

$0 \leq k, m \leq n$ ,  $a_{-1} = a_{n+1} = 0$ ,  $\alpha_n > 0$ , then all the zero of  $P(z)$  lie in circle

$$|z| \leq \frac{2}{|a_n| t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{t(\alpha_n + \beta_n)}{|a_n|}. \tag{2}$$

In this paper, we first present the following result which among other things provides a refinement of Theorem B for  $0 \leq k \leq n - 1$ .

**THEOREM 1.** Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  with complex coefficients. If  $t > 0$  can be found such that

$$t^n |a_n| \leq t^{n-1} |a_{n-1}| \leq \dots \leq t^{k+1} |a_{k+1}| \leq t^k |a_k|, \quad t^k |a_k| \geq t^{k-1} |a_{k-1}| \geq \dots \geq t |a_1| \geq |a_0|,$$

$0 \leq k \leq n - 1$ , then all the zero of  $P(z)$  lie in

$$\left| z + \frac{a_{n-1}}{a_n} - t \right| \leq \frac{2t^{k+1} |a_k|}{t^n |a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1} |a_n|} - \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t |a_n - |a_n||}{|a_n|}. \tag{3}$$

*Proof.* Consider the polynomial

$$\begin{aligned} F(z) &= (t - z)P(z) = (t - z)(a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0) \\ &= -a_n z^{n+1} + (ta_n - a_{n-1})z^n + \sum_{v=0}^{n-1} (ta_v - a_{v-1})z^v \quad (a_{-1} = 0). \end{aligned}$$

Let  $|z| > t$ , then

$$\begin{aligned} |F(z)| &\geq |a_n| |z|^n \left[ \left| z + \frac{a_{n-1}}{a_n} - t \right| - \sum_{v=0}^{n-1} \left| \frac{ta_v - a_{v-1}}{a_n} \right| \frac{1}{|z|^{n-v}} \right] \\ &> |a_n| |z|^n \left[ \left| z + \frac{a_{n-1}}{a_n} - t \right| - \frac{1}{|a_n|} \sum_{v=0}^{n-1} \frac{|ta_v - a_{v-1}|}{t^{n-v}} \right]. \end{aligned} \tag{4}$$

Now,

$$\begin{aligned} \sum_{v=0}^{n-1} \frac{|ta_v - a_{v-1}|}{t^{n-v}} &\leq \sum_{v=0}^{n-1} \frac{|t|a_v| - |a_{v-1}||}{t^{n-v}} + \sum_{v=0}^{n-1} \frac{t|a_v - |a_v|| + |a_{v-1} - |a_{v-1}||}{t^{n-v}} \\ &= \sum_{v=0}^k \frac{|t|a_v| - |a_{v-1}||}{t^{n-v}} + \sum_{v=k+1}^{n-1} \frac{|t|a_v| - |a_{v-1}||}{t^{n-v}} \\ &\quad + \sum_{v=0}^{n-1} \frac{t|a_v - |a_v|| + |a_{v-1} - |a_{v-1}||}{t^{n-v}} \\ &\leq \frac{2|a_k|}{t^{n-k-1}} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}} - (|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||). \end{aligned}$$

Using this in (4), we have

$$\begin{aligned} |F(z)| \geq |a_n||z|^{n+1} \left[ \left| z + \frac{a_{n-1}}{a_n} - t \right| - \frac{2|a_k|}{t^{n-k-1}|a_n|} - 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} \right. \\ \left. + \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||}{|a_n|} \right] > 0, \end{aligned}$$

if

$$\left| z + \frac{a_{n-1}}{a_n} - t \right| > \frac{2|a_k|}{t^{n-k-1}|a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} - \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||}{|a_n|}.$$

Therefore, it follows that all the zeros of  $F(z)$  whose modulus is greater than  $t$  lie in circle

$$\left| z + \frac{a_{n-1}}{a_n} - t \right| \leq \frac{2|a_k|}{t^{n-k-1}|a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} - \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||}{|a_n|}. \tag{5}$$

We now show that all those zeros of  $F(z)$  whose modulus is less than or equal to  $t$  also satisfy (5). Let  $|z| \leq t$ ,

$$\begin{aligned} \left| z + \frac{a_{n-1}}{a_n} - t \right| &\leq t + \left| \frac{a_{n-1}}{a_n} - t \right| \leq t + \frac{|t|a_n| - |a_{n-1}||}{|a_n|} + \frac{t|a_n - |a_n|| + |a_{n-1} - |a_{n-1}||}{|a_n|} \\ &= t + \frac{|a_{n-1}| - t|a_n|}{|a_n|} + \frac{|a_n - |a_n||t + |a_{n-1} - |a_{n-1}||}{|a_n|} \\ &= \frac{2|a_{n-1}|}{|a_n|} + \frac{|a_{n-1} - |a_{n-1}||}{|a_n|} + \frac{t|a_n - |a_n||}{|a_n|} - \frac{|a_{n-1}|}{|a_n|}. \end{aligned} \tag{6}$$

Now, by hypothesis,

$$\left| \frac{a_{n-1}}{a_n} \right| \leq \frac{|a_k|}{|a_n|t^{n-k-1}}, \quad \text{for } 0 \leq k \leq n-1. \tag{7}$$

Using (7) in (6), we obtain for  $0 \leq k \leq n - 1$ ,

$$\begin{aligned} \left| z + \frac{a_{n-1}}{a_n} - t \right| &\leq \frac{2|a_k|}{|a_n|t^{n-k-1}} + \frac{|a_{n-1} - |a_{n-1}||}{|a_n|} + \frac{t|a_n - |a_n||}{|a_n|} - \frac{|a_{n-1}|}{|a_n|} \\ &\leq \frac{2|a_k|}{t^{n-k-1}|a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} - \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||}{|a_n|}. \end{aligned}$$

Thus, we have shown that if  $|z| \leq t$ , then for  $0 \leq k \leq n - 1$ ,

$$\left| z + \frac{a_{n-1}}{a_n} - t \right| \leq \frac{2|a_k|}{t^{n-k-1}|a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} - \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||}{|a_n|}.$$

This shows that all the zeros of  $F(z)$  whose moduli is less than or equal to  $t$  also lie in the circle defined by (5). But all the zeros of  $P(z)$  are also the zeros of  $F(z)$ , therefore, we conclude that all the zeros of  $P(z)$  lie in the circle defined by (5). This completes the proof of Theorem 1.  $\square$

REMARK 1. In general Theorem 1 gives much better result than Theorem B for  $0 \leq k \leq n - 1$ . To see this, we show that the circle defined by (3) is contained in the circle defined by (1). Let  $z$  be any point belonging to the circle defined by (3), then

$$\begin{aligned} \left| z + \frac{a_{n-1}}{a_n} - t \right| &\leq \frac{2|a_k|}{t^{n-k-1}|a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} \\ &\quad - \left( \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||}{|a_n|} \right). \end{aligned}$$

This implies

$$\begin{aligned} |z| &= \left| z + \frac{a_{n-1}}{a_n} - t + t - \frac{a_{n-1}}{a_n} \right| \leq \left| z + \frac{a_{n-1}}{a_n} - t \right| + \left| t - \frac{a_{n-1}}{a_n} \right| \\ &\leq \frac{2|a_k|}{t^{n-k-1}|a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} - \left( \frac{|a_{n-1}| + |a_{n-1} - |a_{n-1}|| + t|a_n - |a_n||}{|a_n|} \right) \\ &\quad + \frac{||a_n|t - |a_{n-1}||}{|a_n|} + \frac{|a_n - |a_n||t + |a_{n-1} - |a_{n-1}||}{|a_n|} \\ &= \frac{2|a_k|}{t^{n-k-1}|a_n|} + 2 \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}|a_n|} - \left( \frac{|a_{n-1}| + t|a_n - |a_n||}{|a_n|} \right) \\ &\quad + \frac{|a_{n-1}| - |a_n|t}{|a_n|} + \frac{|a_n - |a_n||t}{|a_n|} \\ &\leq \frac{2t|a_k|}{t^{n-k}|a_n|} + \frac{2}{|a_n|} \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}} - t = t \left\{ \frac{2t^k|a_k|}{t^n|a_n|} - 1 \right\} + \frac{2}{|a_n|} \sum_{v=0}^n \frac{|a_v - |a_v||}{t^{n-v-1}}. \end{aligned}$$

This shows that the point  $z$  belongs to the circle defined by (1). Hence the circle defined by (3) is contained in the circle defined by (1).

For polynomial  $P(z) = \sum_{j=0}^n a_j z^j$  with real and positive coefficients, we obtain the following result.

**COROLLARY 1.** *Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  with real and positive coefficients. If  $t > 0$  can be found such that*

$$t^n a_n \leq t^{n-1} a_{n-1} \leq \dots \leq t^{k+1} a_{k+1} \leq t^k a_k, \quad t^k a_k \geq t^{k-1} a_{k-1} \geq \dots \geq t a_1 \geq a_0,$$

$0 \leq k \leq n - 1$ , then all the zero of  $P(z)$  lie in

$$\left| z + \frac{a_{n-1}}{a_n} - t \right| \leq \frac{2t^{k+1} a_k}{t^n a_n} - \frac{a_{n-1}}{a_n}.$$

Next, we present the following result which improves the bound of Theorem C for  $0 \leq k, m \leq n - 1$ .

**THEOREM 2.** *Let  $P(z) = \sum_{j=0}^n a_j z^j$  be a polynomial of degree  $n$  with complex coefficients. If  $\text{Re } a_j = \alpha_j$  and  $\text{Im } a_j = \beta_j$  for  $j = 0, 1, 2, \dots, n$ . If  $t > 0$  can be found such that*

$$0 < t^n \alpha_n \leq t^{n-1} \alpha_{n-1} \leq \dots \leq t^{k+1} \alpha_{k+1} \leq t^k \alpha_k, \quad t^k \alpha_k \geq t^{k-1} \alpha_{k-1} \geq \dots \geq t \alpha_1 \geq \alpha_0 > 0$$

and

$$0 < t^n \beta_n \leq t^{n-1} \beta_{n-1} \leq \dots \leq t^{m+1} \beta_{m+1} \leq t^m \beta_m, \\ t^m \beta_m \geq t^{m-1} \beta_{m-1} \geq \dots \geq t \beta_1 \geq \beta_0 > 0,$$

$0 \leq k, m \leq n - 1$ ,  $a_{-1} = a_{n+1} = 0$ , then all the zero of  $P(z)$  lie in

$$\left| z + \frac{a_{n-1} - t a_n}{a_n} \right| \leq \frac{2}{|a_n| t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{\alpha_{n-1} + \beta_{n-1}}{|a_n|}. \tag{8}$$

*Proof.* Consider the polynomial

$$F(z) = (t - z)P(z) = (t - z)(a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0) \\ = -a_n z^{n+1} + (t a_n - a_{n-1}) z^n + \sum_{v=0}^{n-1} (t a_v - a_{v-1}) z^v \quad (a_{-1} = 0).$$

Let  $|z| > t$ , then

$$|F(z)| \geq |z|^n \left[ |a_n z + a_{n-1} - t a_n| - \sum_{v=0}^{n-1} |t a_v - a_{v-1}| \frac{1}{|z|^{n-v}} \right] \\ > |z|^n \left[ |a_n z + a_{n-1} - t a_n| - \frac{1}{t^n} \sum_{v=0}^{n-1} |t a_v - a_{v-1}| t^v \right]. \tag{9}$$

Now by hypothesis

$$\begin{aligned}
 \sum_{v=0}^{n-1} |ta_v - a_{v-1}|t^v &\leq \sum_{v=0}^{n-1} |t\alpha_v - \alpha_{v-1}|t^v + \sum_{v=0}^{n-1} |t\beta_v - \beta_{v-1}|t^v \\
 &= \sum_{v=0}^k |t\alpha_v - \alpha_{v-1}|t^v + \sum_{v=k+1}^{n-1} |t\alpha_v - \alpha_{v-1}|t^v + \sum_{v=0}^m |t\beta_v - \beta_{v-1}|t^v \\
 &\quad + \sum_{v=m+1}^{n-1} |t\beta_v - \beta_{v-1}|t^v \\
 &= 2\alpha_k t^{k+1} + 2\beta_m t^{m+1} - (\alpha_{n-1} + \beta_{n-1})t^n.
 \end{aligned}$$

Using this in (9), we obtain

$$|F(z)| \geq |z|^{n+1} \left\{ |a_n z + a_{n-1} - ta_n| - 2\alpha_k \frac{t^{k+1}}{t^n} - 2\beta_m \frac{t^{m+1}}{t^n} + (\alpha_{n-1} + \beta_{n-1}) \right\} > 0,$$

if

$$\left| z + \frac{a_{n-1} - ta_n}{a_n} \right| > \frac{2}{|a_n|t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{\alpha_{n-1} + \beta_{n-1}}{|a_n|}.$$

Hence all the zeros of  $F(z)$  whose modulus is greater than  $t$  lie in the circle

$$\left| z + \frac{a_{n-1} - ta_n}{a_n} \right| \leq \frac{2}{|a_n|t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{\alpha_{n-1} + \beta_{n-1}}{|a_n|}. \quad (10)$$

Now, if  $|z| \leq t$ , then we have

$$\begin{aligned}
 |a_n z + a_{n-1} - ta_n| &\leq |a_n|t + |a_{n-1} - ta_n| \leq t\alpha_n + t\beta_n + (\alpha_{n-1} - t\alpha_n) + (\beta_{n-1} - t\beta_n) \\
 &= \alpha_{n-1} + \beta_{n-1},
 \end{aligned}$$

this gives,

$$\left| z + \frac{a_{n-1} - ta_n}{a_n} - t \right| \leq \frac{\alpha_{n-1} + \beta_{n-1}}{|a_n|}. \quad (11)$$

By hypothesis for  $0 \leq k, m \leq n-1$ ,

$$t^{n-1}\alpha_{n-1} \leq \alpha_k t^k \quad \text{and} \quad t^{n-1}\beta_{n-1} \leq \beta_m t^m.$$

Therefore,

$$2(t^{n-1}\alpha_{n-1} + t^{n-1}\beta_{n-1}) \leq 2(\alpha_k t^k + \beta_m t^m).$$

Equivalently,

$$\alpha_{n-1} + \beta_{n-1} \leq \frac{2}{t^n} (\alpha_k t^{k+1} + \beta_m t^{m+1}) - (\alpha_{n-1} + \beta_{n-1}). \quad (12)$$

Using (12) in (11), we obtain for  $0 \leq k \leq n-1$ ,

$$\left| z + \frac{a_{n-1} - ta_n}{a_n} \right| \leq \frac{2}{|a_n|t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{\alpha_{n-1} + \beta_{n-1}}{|a_n|}.$$

This shows that all the zeros of  $F(z)$  whose modulus is less than or equal to  $t$  also satisfy the inequality (10). Thus we conclude that all the zeros of  $F(z)$  and hence that of  $P(z)$  lie in the circle defined by (10). This completes the proof of Theorem 2.  $\square$

REMARK 2. In general Theorem 2 also gives much better result than Theorem B for  $0 \leq k \leq n-1$ . To see this, we show that the circle defined by (8) is contained in the circle defined by (2). Let  $z$  be any point belonging to the circle defined by (8), then

$$\left| z + \frac{a_{n-1} - ta_n}{a_n} \right| \leq \frac{2}{|a_n|t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{\alpha_{n-1} + \beta_{n-1}}{|a_n|}.$$

This implies

$$\begin{aligned} |z| &= \left| z + \frac{a_{n-1} - ta_n}{a_n} - \frac{a_{n-1} - ta_n}{a_n} \right| \leq \left| z + \frac{a_{n-1} - ta_n}{a_n} \right| + \left| \frac{a_{n-1} - ta_n}{a_n} \right| \\ &\leq \frac{2}{|a_n|t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{\alpha_{n-1} + \beta_{n-1}}{|a_n|} + \frac{\alpha_{n-1} - t\alpha_n}{|a_n|} + \frac{\beta_{n-1} - t\beta_n}{|a_n|} \\ &= \frac{2}{|a_n|t^n} \left\{ \alpha_k t^{k+1} + \beta_m t^{m+1} \right\} - \frac{t(\alpha_n + \beta_n)}{|a_n|}, \end{aligned}$$

which shows that the point  $z$  belongs to the circle defined by (2). Hence the circle defined by (8) is contained in the circle defined (2).

*Acknowledgement.* The author is highly grateful to the referee for his useful suggestions.

#### REFERENCES

- [1] C. AFFANE-AJI, N. AGARWAL AND N. K. GOVIL, *Location of zeros of polynomials*, Mathematical and Computer Modelling, **50** (2009), 306–313.
- [2] C. AFFANE-AJI AND N. K. GOVIL, *On the regions containing all the zeros of a polynomial*, Nonlinear Analysis: Stability, Approximation and Inequalities, Edited by P. G. Georgiev, P. Pardalos and H. M. Srivastava, Springer, Optimization and its Applications, **68** (2012), 39–55.
- [3] N. ANDERSON, E. B. SAFF, R. S. VARGA, *On the Eneström-Kekeya theorem and its sharpness*, Linear Algebra Appl., **28** (1979), 5–16.
- [4] N. ANDERSON, E. B. SAFF, R. S. VARGA, *An extension of the Eneström-Kekeya theorem and its sharpness*, SIAM J. Math. Anal., **12** (1981), 10–22.
- [5] A. AZIZ AND Q. G. MOHAMMAD, *Zero free regions for polynomials and some generalizations of Eneström-Kekeya theorem*, Canad. Math. Bull., **27**(3) (1984), 265–272.
- [6] A. AZIZ AND W. M. SHAH, *On the zeros of polynomial and related analytic functions*, Glas. Mat., **3**(53) (1998), 173–184.
- [7] A. AZIZ AND B. A. ZARGAR, *Some extensions of Eneström-Kekeya theorem*, Glas. Mat., **33** (1996), 239–244.

- [8] A. AZIZ AND B. A ZARGAR, *Bounds for the zeros of a polynomial with restricted coefficients*, Appl. Math., **3** (2012), 3–33.
- [9] J. CAO AND R. GARDNER, *Restrictions on the zeros of as a consequence of conditions on the coefficients of even powers and odd powers of the variable*, J. Comput. Appl. Math, **155** (2003), 153–163.
- [10] A. CAUCHY, *Exercices de mathématique*, Oeuvres,(2) Volume **9**, p. 122 (1829).
- [11] G. T. CARGO AND O. SHISHA, *Zeros of polynomials and fractional order differences of their coefficients*, J. Math. Anal. Appl., **7** (1963) 176–182.
- [12] Y. CHOO AND G. K. CHOI, *On the robustness property of Eneström-Kakeya theorem*, Int. J. Math. Anal., **5**(42) (2011), 2089–2096.
- [13] K. K. DEWAN AND M. BIDKHAM, *On the Eneström-Kakeya theorem*, J. Math. Anal. Appl., **180** (1993), 29–36.
- [14] R. B. GARDNER AND N. K. GOVIL, *Some generalizations of Eneström-Kakeya theorem*, Acta Math. Hungar., **74**(1-2) (1997), 125–134.
- [15] R. B. GARDNER AND N. K. GOVIL, *The Eneström-Kakeya theorem and some of its generalizations*, in S. Joshi, M. Dorff and I. Lahiri(Eds), Current Topics in Pure and Computational Complex Analysis, New Delhi; Springer- Verlag (2014), 171–200.
- [16] M. KOVAČEVIĆ AND I. MILOVANOVIĆ, *On a generalization of the Eneström-Kakeya theorem*, Pure Math. and Applic. Ser. A, **3** (1992), 543–547.
- [17] V. K. JAIN, *On the zeros of polynomials*, Proc. Indian Acad. Sci. Math. Sci., **119**(1) (2009), 37–43.
- [18] A. JOYAL, G. LABELLE AND Q. I. RAHMAN, *On the locations of zeros of polynomials*, Canad. Math. Bull., **10**(1) (1967), 53–63.
- [19] P. V. KRISHNAIAH, *On the Eneström-Kakeya theorem*, J. London Math. Soc., **30** (1955) 314–19.
- [20] A. LIN, B. HUANG, J. CAO, R. GARDNER, *Some results on the location of zeros of analytic functions*, Chinese J. Engrg. Math., **21**(5) (2004), 785–791.
- [21] M. MARDEN, *Geometry of polynomials*, Math. Surveys No. 3, Amer. Math. Soc., Providence R. I. 1966.
- [22] G. V. MILOVANOVIĆ, D. S. MITRINOVIĆ AND TH. M. RASSIAS, *Topics in polynomials: extremal properties, inequalities, zeros*, World scientific Publishing Co., Singapore, (1994).
- [23] Q. I. RAHMAN AND G. SCHMEISSER, *Analytic theory of polynomial*, Clarendon Press, Oxford, 2002.
- [24] N. A. RATHER, S. AHMAD AND M. I. MIR, *On the Eneström-Kakeya theorem*, Int. J. Pure Appl. Math., **41** (2007), 807–816.
- [25] N. A. RATHER, S. AHMAD, *A remark on generalizations of Eneström-Kakeya theorem*, Math. Balkanica., **21**, Fasc. 3-4(2007), 319–328.

(Received May 24, 2016)

Nisar A. Rather  
 P.G. Department of Mathematics  
 Kashmir University  
 Hazratbal, Srinagar-190006, India  
 e-mail: dr.narather@gmail.com